Opti 501 ‘ Solutions

1/1

Problem 3§)a) Th Problemy e Alprred bt

Engineer's Computation Pad

» No.937 811E

2 STAEDTLER

)

[

a7k, a-r
| g <"1 R T T Y w7 ML
Sy = 27 i(“%@l+l%zlz)°7a+2f5mxfcz)“°}}'

Tho st T o aliort enprinin 4 prpoLocd A Gy » 13kl
“‘MW“""T W\%dﬁpmﬁ\;w&a i Fens. D
Aelord Trm 45 Haa Clon - pwimf‘o-ﬁﬁnvzfrw m’{fqu 05
s, F i 0o axBggonid o 0+ Conirtly, ($5.5; =0

W

b) ﬁ—ﬂ‘eltp anzrg; delcté = iH"! g('?f),}-zdzl' M, [ Re

by A Z'é {d:-.!;’-C£)
{0 )

:'l;_}‘o {'f&.{(!:):ﬁ ﬂﬂ:f)[e“{[fa@?»mf)qpL'Aa;(écﬁr"_.wt) }sz 2k &7

(le,O“ r-cot) - H A...(‘a“}; ri c.;t)‘ “P 2’(’ (T r')

-_L
"2_

o A )} [u Yty < g At )] expl-2k, 7, r)

———

—_—]

Ly

|
Mo Hee

=LH {|H¢g| Gt )+l Ay P A, A Y B )}e,xp(—zw )
{l

l.{
Qoo g el oty T S

.

——-~__________—.______,_.__

"-»Hb(‘noll\‘f‘lqgll ) 6(14'2.'0”‘1)([601"{-' II) 6!0:;.%&4-0:.@,4.‘ (;

el

nﬂﬂ.

@

2
:e,(“—zlql YUE 4 (Ex|%) - € |20 B 20064 =

-5 = o = i .
Hsf?- ' i g ' Ho[ (‘Haﬂ\z'” l Het lz)a" (2 Lo 0';' r"-zw't)..z “.,g"":: A’;'(zkaor}"‘?‘ Zmﬁ®

 S—

Now £/ - T E, _&,zu A = (Fx E)- F*E* )= (. F)(E - E4)- (2N E,
-5 -4 2
= B (IR 18 1) = (1516 (€1 1621%) - | @) (BB

:uf%l-
AT

p—

———
)

e e e e ]
LH-feld energy densityy = ‘jﬂéo{( NG (el +IES") ~ 4155 £ - 4G Eipy'} exp(-zlp.&;’-@
ke o MR

i p— -

Nof necyn.miﬁ? efual by L E - freld enengy den3>, ek ©s only M;__gi,sf{-pwm eupredsions


Mansuripur
Text Box
Opti 501

Mansuripur
Text Box
      Solutions

Mansuripur
Text Box
  1/1

Mansuripur
Text Box
Problem 33)




